








What is Corporate Governance? Smtﬁ the concept, need and principles of u)rpomu,
governance.

Write a note on the nature and importance of Strategic Control,
“The strategic management process encompasses three phases-strategy formulation,
implementation, and evaluation and control”. Discuss it in a global context.

PART - C
Compulsory (20)

DD is the India’s premier public service broadcaster with more than 1,000 transmitters
covering 90% of the country’s population across an estimated 70 million homes. It
has more that 20,000 employees managing its metro and regional channels. Recent
years have seen growing competition from many private channels numbering more
than 65, and the cable and satellite operators (C&S).

The C & S network reaches nearly 30 million homes and is growing at a very fast
rate. DD’s business model is based on selling half-hour slots of commercial time
to thep programme proaucers and charging them a minimum guarantee. For instance,
the present tariff for the first 20 episodes of a programme is Rs. 30 lakhs plus the
cost of production of the programme. In exchange the producets get 780 seconds

of commercial time that he can sell to 2 advertlsers and can generate reyenue. Break-

‘even point for producers, at the present rates, thus is Rs. 75,000 for a 10 second

an@ spot. Beyond 20 episodes, the minimum guarantee is Rs. 65 lakhs for

~which the producer has to > char \e\Rsml—l—S—GGO’f" r a 10 second spot in order to

break-even.

1t is at this point the advertisers face a problem - the competitive rates for a 10
second spot is Rs. 50,000. Producers are possessive about buying commercial
time on DD. As a result,'the DD’s projected growth of revenue is only 6-10% as
against 50-60% for private sector channels. Software suppliers, advertisers and
audiences are deserting DD owing to its unrealistic pricing policy.

DD has three options before it. First, it should privatize, second, it should remain
purely public service broadcaster and third, a middle path. The challenge seems to
be to exploit DD’s immense potential and emerge as a formidable player in the

mass media.

Answer the following questions :

a) Discuss the best option, in your view, for DD.

b) Analyse the SWOT factors the DD has.

c¢) Explain the proposed alternatives which you suggested.
d) State the basic objectives for conducting SWOT analysis.

(6+6+4+4)
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7.

Attempt any Five questions: (5%6=30)

Discuss the importance of Ratio A, lysis as a tool for analysis and interpretation
of financial statements. What are its fimitations?

Make a comparison between NPV ;‘_;,_ IRR methods. Which one of the two you

find to be more rationale and why? “‘
A B, » - -~ 3 N 3 -
What factors determine the size of (le investment a company makes in accounts

receivables? Which of these factors ak under the control of the Finance Manager?
Dividend policy affects the value of ¢ e firm under Gordon’s Model. Explain.

The operating and cost data of ABC Itd. are:

»  Sales - Rs. 20,00,000

*  Variable Costs - Rs. 14,00,000

»  Fixed Cost - Rs. 4,00,000 (including 15% interest on Rs. 10,00,000)
Calculate its operating, financial and combined leverage.

From the following selected data, determine the value of the firms, P and Q belonging
to the homogencous risk class under

(2) N1 Approach and (b)NOI Approach
. Firm P Firm Q \
EBIT | Rs: 2,25,000 Rs. 2,25,000 |
[Interest (0:15) Rs.75,000 |
Equity Capitalisation rate (Ke) ‘ 0.20
Tax rate - 035

Which of the two firms has an optmag" capital structure?

B ,
B Raj Limited sells goods on cash as well as credit. The following particulars are
extracted from their books on accounts for the current year-end.

Particulars , ' Amount (in lakh of rupees)
Total Gross Sales k| 100

Cash Sales (Included in above) l 20

Sales Returns By 7

Total debtors at the end 3 9

Bills receivables | 2

Provision for doubtful debts at the end of the year | 1

Total creditors at the end 10

Calculate the average collection period.
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